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# R Console == men
> summary (data)

Name Chinese Enghlish Math

Agnes : 1 Min. : 0.00 Min. : 0.00 Min. :10.00

Aiolos : 1 1st Qu.:38.75 1st Qu.:32.00 1st Qu.:45.75

Alan 1 Median :66.00 Median :57.00 Median :63.50

Alexis : 1 Mean :57.98 Mean :51.86 Mean :59.38

Alice : 1 3rd Qu.:78.00 3rd Qu.:71.00 3rd Qu.:76.25
1

Alina : Max. :87.00 Max. :190.00 Max.
E (Other) : 94
F A Y B4 " "-v_ %, 24 _‘/""
|
I

i = T _ . SR NS
HilsF98L M(=X)=—(x1+x2+---+x,)=—zlx, R L
n R = e - = y = - =
T — = = ] » Jc-““k " % ] n »JM"‘«' =
o x S=J_g(x,_x)ﬂ =J_Exf—X
Mi=l 7 =l Histogram of Math

= sort ( Math)

( At ) = boxplot( Math ) L - r

= hist( Math ) -

& : ‘_‘|
1% \:—'Hn = summary( Math ) ] :
|

j> A7 Bicdy i
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H k3= (iris) 7 &
s A F LI FTRATAR L -

s PR ERANVAETGS SRR EY ?‘ﬂll@

— s v 24 petal
AL "' r 2/ Yl ﬁ' ~ Ny Y
— = 9 \
St end s 1504 S
stigma— " "
T style ——% P %‘-unthzr E
|| i,'T, ’)ﬁ I T]% *&E Tf_ : E ovary-—_% % > Filament E

1. =¥ £ & (Sepal Length) : 3+ 5 & =& 2 4 o

rec:p'rnfﬁ.lﬂe m
2. “EF R (Sepal Width) : 2+ 5 ¥ i~ § 2 4 o

3. f=#L B (Petal Length) @5 H =8 24 o
4. ¥ R (Petal Width) @ 3+ 5 B = & o 4 o

5. # 4 (Class) : ¥ 4 5 Setosa » Versicolor 4r Virginica = # &8 o

https://extension.illinois.edu/gpe/glossary/sepal.html
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g & - - IRIS

Console - = 91 5.5 2.6 4.4 1.2 versicelor
5 R 92 6.1 3.0 4.6 1.4 ver‘sjcc'\or
Sepal.Length Sepal.width Petal.Length Petal.width Species 93 5.8 2.6 4.0 1.2 VEFSTCQ-‘OF
1 5.1 3.5 1.4 0.2 cetosd 94 5.0 2.3 3.3 1.0 versicolor
5 4.9 3.0 1.4 0.2 e eig 95 5.6 2.7 4.2 1.3 versicolor
3 4.7 3.2 58 0.2 S 96 5.7 3.0 4.2 1.2 versicolor
4 15 31 1.5 0.2 ity 97 5.7 2.9 4.2 1.3 versicolor
5 5.0 36 1.4 0.2 i gl 98 6.2 2.9 4.3 1.3 versicolor
6 5'4 3'9 1'? 0'4 . 99 5.1 2.5 3.0 1.1 versicolor
7 4-6 3'4 1'4 0'3 SR 100 5.7 2.8 4.1 1.3 versicolor
2 5'0 3'4 1'5 0'2 e i 101 6.3 3.3 6.0 2.5 wirginica
9 4'4 2'9 1'4 0'2 itaea 102 5.8 2.7 5.1 1.9 wirginica
10 4'9 3'1 1'5 0'1 R 103 7.1 3.0 5.9 2.1 wvirginica
3 : 3 . 104 6.3 2.9 5.6 1.8 wirginica
1 3.4 3.7 1.5 0.2 setosa 105 6.5 3.0 5.8 2.2 virginica
12 4.8 3.4 1.6 0.2 setosa 106 7.6 3.0 6.6 2.1 virginica
15 4.8 3.0 1.4 0.1 setosa 107 4.9 2.5 4.5 1.7 virginica
ig g-g i-g i% g-% ;2;22; 108 7.3 2.9 6.3 1.8 virginica
5 3 i 3 109 6.7 2.5 5.8 1.8 wirginica
16 5.7 4.4 1.5 0.4 setosa 110 7.2 3.6 6.1 2.5 virginica
17 5.4 3.9 1.3 0.4 setosa = 111 6.5 3.2 5.1 2.0 virginica
18 5.1 3.5 1.4 0.3 setosa 112 6.4 2.7 5.3 1.9 virginica
15 L 3.8 Wi 0.3 setosa 113 6.8 3.0 5.5 2.1 virgim‘ca
20 5.1 3.8 1.5 0.3 setosa 114 5.7 2.5 5.0 2.0 virginica
21 5.4 3.4 1.7 0.2 setosa 115 5.8 2.8 5.1 2.4 virginica
22 5.1 3.7 1.5 0.4 setosa 116 6.4 3.2 5.3 2.3 virginica
23 4.6 3.6 1l 0.2 setosa 117 6.5 3.0 5.5 1.8 virginica
24 5.1 3.3 1.7 0.5 setosa 118 7.7 3.8 6.7 2.2 virginica
gg g-g g-g 1-2 g-g setosa 119 7.7 2.6 6.9 2.3 virginica
- - - - setosa 120 6.0 2.2 5.0 1.5 wvirginica
27 50 3.4 1.6 0.4 setosa 121 6.9 3.2 5.7 2.3 virginica
gg gg §3 ii g.i setosa B 122 5.6 2.8 4.9 2.0 virginica
. . . . setosa 123 7.7 2.8 6.7 2.0 virginica
30 4.7 32 1.6 0.2 setosa 124 6.3 2.7 4.9 1.8 virginica
31 4.8 3:1 1.6 0.2 setosa 125 6.7 3.3 5.7 2.1 virginica
32 5.4 3.4 15 0.4 setosa 126 7.2 3.2 6.0 1.8 wvirginica
33 5.2 4.1 1.5 0.1 setosa 127 6.2 2.8 4.8 1.8 wvirginica
34 5.5 4.2 1.4 0.2 setosa 128 6.1 3.0 4.9 1.8 wvirginica
35 4.9 A1 105 0.2 setosa 129 6.4 2.8 5.6 2.1 virginica
36 5.0 3.2 3] 0.2 setosa 130 7.2 3.0 5.8 1.6 wvirginica —
37 He 5 355 1.3 0.2 setosa 131 7.4 2.8 6.1 1.9 wvirginica
38 4.9 3.6 1.4 0.1 setosa 132 7.9 3.8 6.4 2.0 wvirginica
39 4.4 3.0 1.3 0.2 setosa 133 6.4 2.8 5.6 2.2 wvirginica
40 hitd 3.4 15 0.2 setosa 134 6.3 2.8 5.1 1.5 wvirginica
41 5.0 3.5 1.3 0.3 setosa 135 6.1 2.6 5.6 1.4 wvirginica
42 4.5 2.3 1.3 0.3 setosa 136 7.7 3.0 6.1 2.3 wirginica
43 4.4 3.2 1.3 0.2 setosa 137 6.3 3.4 5.6 2.4 wirginica
44 5.0 3.5 1.6 0.6 setosa 138 6.4 3.1 5.5 1.8 wvirginica
45 5.1 3.8 1.9 0.4 setosa 139 6.0 3.0 4.8 1.8 wvirginica
46 4.8 3.0 0. 0.3 setosa 140 6.9 3.1 5.4 2.1 wvirginica E
47 5.1 3.8 1.6 0.2 setosa 141 6.7 3.1 5.6 2.4 wvirginica
48 4.6 3.2 1.4 0.2 setosa 142 6.9 3.1 5.1 2.3 wvirginica
49 5.3 357 1.5 0.2 setosa 143 5.8 2.7 5.1 1.9 wvirginica
50 5.0 3.3 1.4 0.2 setosa 144 6.8 3.2 5.9 2.3 wvirginica
51 7.0 3.2 4.7 1.4 versicolor 145 6.7 3.3 5.7 2.5 wvirginica
52 6.4 3.9 4.5 1.5 versicolor 146 6.7 3.0 5.2 2.3 virginica
53 6.9 3.1 4.9 1.5 versicolor 147 6.3 2.5 5.0 1.9 virginica
54 5 5 2.3 4.0 1.3 versicolor 148 6.5 3.0 3.2 2.0 virginica
55 6.5 2.8 4.6 1.5 versicolor 149 6.2 3.4 3.4 2.3 virginica
56 5.7 2.8 4.5 1.3 versicolor 130 3.9 3.0 2.1 1.8 virginica _
57 6.3 3.3 4.7 1.6 versicolor > -
58 4.9 2.4 3.5 1.0 versicolor
59 6.6 2.9 4.6 1.3 versicolor
60 52 257 3.9 1.4 versicolor
61 5.0 2.0 35 1.0 versicolor
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iris[ i, j ]

iris] 1, 1]
iris[ 1, 2 ]
iris[ 1, 3]
iris| 1, 4 ]
iris[ 1, 5]
iris[ 2, 1]
iris[ 2, 2 ]
iris] 1, ]
iris| 2, ]
iris[ 3, |
iris] , 1]
iris] , 2]
iris[ , 3

# % - BB nddy

P AR k3 - 20188
U04: iy edT -5 B # it
Feng-Li Lian @ NTU-EE



m ins[ , ]
m iris[ , 1]
= iris[ , 2]
= Iris[ , 3]
= iris[ , 4]
= s , 5]

= iris$Sepal.Length
= iris$Sepal.Width
= iris$Petal.Length
= iris$Petal.Width
= iris$Species

#HE- BEF kg
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mydata <- iris
mydata

mydata[ i, j |
= mydata] 1, 1 ]
= mydata[ 3, ]
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Feng-Li Lian @ NTU-EE
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= Mmydata <- iris

= Mmydata

= Str( mydata )

= str( mydata )

'data. frame’:

LR -l

= summary( mydata )

sepal.Length:
Sepal.width :
Petal.Length:
Petal.width :
Species

150 obs. o

# Display the Structure

f 5 variables:
num 5.1 4.9 4.7 4.6 5 5.4 4.65 4.4 4.9 ..
num 3.5 3 3.2 3.1 3.6 3.9 3.4 3.4 2.9 3.1 ...
num 1.4 1.4 1.3 1.51.4 1.7 1.4 1.5 1.4 1.5 .
num 0.2 0.2 0.2 0.2 0.2 0.4 0.3 0.20.20.1 ...
: Factor w/ 3 levels "setosa","versicolor”,..: 1111111111 ...

# Object Summaries

= summary( mydata )
Sepal.Length

Min.
1st Qu.:
Median :
Mean
3rd Qu.:
Max.

et e T R, R, =8

.300
-100
-800
.8435
-400
-900

Sepal.width Petal.Length Petal.width Species
Min. :2.000 Min. :1.000 Min. :0.100 setosa 150
1st Qu.:2.800 1st Qu.:1.600 1st Qu.:0.300 versicolor:50
Median :3.000 Median :4.350 Median :1.300 virginica :50
Mean :3.057 Mean :3.758 Mean :1.199
3rd Qu.:3.300 3rd Qu.:5.100 3rd Qu.:1.800
Max. 4.400 Max. 6.900 Max. 2.500

13
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mydata <- iris

mydata

head( mydata, n =5)

> head( mydata,

n==519)

P AR k3 - 20188
U04: iy edT -5 B # it
Feng-Li Lian @ NTU-EE

# the first part of an object

Sepal.Length Sepal.width Petal.Length Petal.width Species

W, S-SR N I N I

[0 [ S W
o T = B I Ve I

3.

tail( mydata, n =5)

> tail( mydata, n =5 )
Sepal.Length Sepal.width Petal.Length Petal.width

146
147
148
149
150

b.

[ I = I ) B )]
U I SN R, RN

7

Ll g

5

o O

3.

Ll g P

0

[ T N o T |

1.

=

4

E W RS-

5.

LA wnowLn
. . . .

2

= O

0.2

oo o
Pud P Pl ol

setosa
setosa
setosa
setosa
setosa

# the last part of an object

2.

=t P =

3

Cow oW

Species
virginica
virginica
virginica
virginica
virginica

14
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mydata <- iris
mydata

mydata[ , 1
mydata[ , 2 ]
mydata[ , 3 ]
mydata[ , 4 ]
mydata[ , 5

mydata$Sepal.Length
mydata$Sepal . Width
mydata$Petal.Length
mydata$Petal.Width
mydata$Species

P AR k3 - 20188
U04: iy edT -5 B # it
Feng-Li Lian @ NTU-EE

# the n-th column of an object

# the data with the NAME

15
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mydata <- iris
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mydata

mydata$Species == "setosa“ # find the data with the NAME
mydata$Species == "versicolor"

mydata$Species == "virginica"

mydata] mydata$Species == "setosa" , |

mydata] mydata$Species == "versicolor" , ]

mydata] mydata$Species == "virginica" , ]

mydata] mydata$Species == "setosa”, 1 ]

mydata] mydata$Species == "versicolor"”, 1 ]

mydata] mydata$Species == "virginica", 1 ]

16
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= Mmydata <- iris

= Mmydata

= Mmydata] mydata$Species == "setosa", 1:2 ]
= Mmydata] mydata$Species == "setosa", 1:3 ]
= Mmydata] mydata$Species == "setosa", 2:4 ]

# find the subset of the data with the property

= sSubset( mydata, Species == "setosa", select = Sepal.Length )

= Subset( mydata, Species == "setosa", select = c¢( Sepal.Length,
Sepal.Width ) )

17
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Feng-Li Lian @ NTU-EE

datal <-iris[ , 1]
datal

max( datal ) # max, min, range, mean, median, sd
min( datal)

c( max( datal ), min( datal ) )

MinMax <- c¢( min( datal ), max( datal ) )

range( datal )

mean( datal )

sd( datal )

median( datal )

mystat <- ¢( min( datal ), median( datal ), mean( datal ), max( datal ),
sd( datal ) )

summary( datal )
18
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Feng-Li Lian @ NTU-EE

datal <-iris[ , 1]

datal

mysort <- sort( datal ) # sort the data
mysort[ 150*0.5 ] # the 50% data
mysort[ 150*0.25 ] # the 50% data
mysort] 150*0.75 ] # the 75% data

mystat <- ¢( min( datal ), mysort[ 150*0.25 ], median( datal ),
mean( datal ), mysort][ 150*0.75 ], max( datal ), sd( datal ) )

summary( datal )

19
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= plot( data )
n H B Vvlj,f‘zg ﬁlﬁ%‘]ﬂj

« datal <-iris[, 1]

= plot( datal )

» data2 <-iris[, 2]

= plot( data2 )

» data3 <-iris[ , 3]

= plot(data3 )

» datad <-iris[, 4]

= plot( data4 ) o 500

= data5 <-iris[ , 5] T : :
= plot( dataS )

21
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hist( data )
n HBY ég ﬁ?i]f%]flj

hist( datal )

hist( data2 )

hist( data3 )

hist( data4 )

hist( data5 )

L

E

—
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aaaaa
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u”gal
*ye w . o n
iy ¥ A
Sepal.Length "“é§aa§“° ol - "3@ 2 " &ag s e |
e P gty

ad :.»l@nk‘:r= % 2
Bge ghe
i | 4

= Mmydata <- iris

; w}';“'%wm : Sepal Width V%U i %“: . “,,,,? :
= plot( mydata ) s g ik E |

= plot( mydata[ , 1:4]) A EE Ll i

- bOXpIOt( mydata[ ’ 1] ) *ﬁ" * # | j
= rug( mydata[ , 1], side =4) -

-------------------------
1 2 3 4+ % & 7

= boxplot( mydata[ , 1], horizontal = TRUE )
= rug( mydata[ , 1], side=1)

I N N Y Y

24
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= hist( mydata] ,1])
= hist( mydata[ , 1 ], freq = TRUE )
= hist( mydata[ , 1 ], freq = TRUE, breaks = "Sturges" )

= hist( mydata' 1], prob = TRUE, breaks = "Sturges", col = "green",
border = "red" )

= hist( mydata[ , 1 ], freq = TRUE, breaks = 20 )
= hist( mydata[ , 1 ], freq = TRUE, breaks = seq( from=3, to=9, by=0.1) )

Histogram of mydatal, 1] Histogram of mydatal, 1] Histogram of mydata, 1] Histogram of mydatal, 1]

H
3w
r : - . !
i 5 4 7 s
e, 1

I Hm il

mmmmmm

25



2é>

\“%

stem( mydata[ , 1 ], scale

stem( mydata[ , 1 ], scale

sum( mydata| , 1] ==4.4)

sum( mydata[ , 1] == 4.6)

B] — stem-leaf = # [

1.0)

0.5)

P AR k3 - 20188
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> stem( mydata[ , 1 ], scale = 1.0 )
The decimal point is 1 digit(s) to the left of the |
42 1 0
44 | 0000
46 | 000000
48 | 00000000000
50 | 0000000000000000000
52 | 00000
54 | 0000000000000
56 | 00000000000000
58 | 0000000000
60 | 000000000000
62 | 0000000000000
64 | 000000000000
66 | 0000000000
68 | 0000000
70 | 00
72 ] 0000
7410
76 | 00000
78 1 0

26
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stripchart( mydata[ , 1 ], method = "overplot", at = 0.7 )
stripchart( mydata[ , 1 ], method = "stack", add = TRUE, at = 0.85)
stripchart( mydata[ , 1 ], method = "jitter", add = TRUE, at = 1.2)

text( 6, 0.65, "overplot" )
text( 6, 0.8, "stack™)

text( 6, 1.05, "jitter" )
R . " . " 3 EEE E;SDE ZHEEDDEE .
title( main = "Strip Chart" ) o gtalye BT Toge, ot

ioo 55, % Bglos @Y °F ]

o o
o o o o o
g 0o o a

JJJJJ

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
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X <- cut( mydata[ , 1 ], breaks = 6)
y <- table(x)

4955 4955
4349 4349
(5.5.6.1] @379 (5.5.6.1] @379
(67.73] (67.73]
(61,67 (61,67

pie(y)

pie(y)

pie( y, clockwise = TRUE )

pie( y, col = terrain.colors(6) )

pie( y, col = gray( seq( from = 0.4, to = 1.0, length =6 ) ) )

28
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Kernel Density Estimate Histogram & KDE

= X<-mydata[, 1]

L

=a)

<
=
; H\HH!HHHHI}HIHHH!HHHI‘ ; IHHI\}\IIHII\\lIIHIIH\lHH il II

N=150 Bandwidth = 0.2736

= plot( density(x), col = "red", main = "Kernel Density Estimate" )
= rug(x, side=1)

= hist( x, prob = TRUE, breaks = "Sturges", main = "Histogram & KDE" )
= lines( density(x), col = "red" )
= rug(x, side = 1)

29
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X <- mydata[ , 1]

plot.ecdf( x )

‘zm

\‘:,:I..'

10

08

06

04

02

0.0

AN

@ﬁié\#r‘]

Bl Vi
U04: #cdp /ed® -3 Bl it
Feng-Li Lian @ NTU-EE

ecdf(x)
s o
o
fa.
—
i
—
-
o
“
—
-—
-
—
—
—
—
-
e
o
e
o
P
.
-

—2018S
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X <- mydata[ , 1]

ggnorm( X )

qqline( x, col = "red", lwd = 2)

% B —normal QQ # i 5 5 @

80

50

Normal Q-Q Plot
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Iris
X <-1iris[ , 1:4 ]

plot( x )
pairs( X )

B — HT BB

pairs( X, panel = panel.smooth )

20

25
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scatterplot

Sepal.Length

Sepal. Width

Petal.Length

Petal.Width

32
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On 3/20, 2017

%% U04 £ > 112 Rcode A%

GO R TR Y 0 p (FPE - ey s, cars, women, or CO2
RIS o Z B g £ E AT T i iy

EPEZ RS U= BE

Frae I T B év’vﬁ,‘% 74 i RAp2® > T2 RARFiL4p s
AT AR 0 N F LA 2 iy /R F 0 B IER L A (pdf)
ﬁ%%ﬂ’%%ﬁ:
s R FORE A E R T LA
o TR H Hhendy £

= A4 k% > iy and/or B

— —

BREEM i 4 i A2 % BRE LA PR

34



-5 AR N2 2t — 2018S

HWO2 & g /g2 52 g Bl 5% i v

Feng-Li Lian @ NTU-EE

On 3/20, 2017

s BTG R 0 RhE LA D HWO2_ B 55 B4R XXX
s RS HWO02 B01921001_ComputePlot.R
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